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Order and Ranking  

 

Direction (1-3): Study the following information carefully and answer the below questions.  

Six persons- A, B, C, D, E, and F are having different price mobile phones. F has costlier mobile than A. B 

has a mobile which is costlier than only E. C has costlier mobile than F who has costlier mobile than D. 

Only two persons are having a mobile between C and A. Third costlier mobile rate is 45000. 

1) How many persons are having costlier mobile than A? 

A.1 

B.2 

C.3 

D.4 

E.None 

2) Who among the following has lower price mobile than D? 

A.A 

B.B 

C.E 

D.All a, b, and c options 

E.Both b and c 

3) If the sum of the price of D and F is 95000 and F and C is 110000 then what is the mobile price of C? 

A.60000 

B.65000 
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C.55000 

D.50000 

E.None of these 

 

Direction (4-5): Study the following information carefully and answer the below questions. 

There are five different wooden chairs- R, T, M, A, and S. Chair M has only less weight than chair S. The 

weight of chair A is less than the weight of chair R. Chair T is neither the second-heaviest nor the third-

heaviest. 

4) How many chairs are heavier than R? 

A.Two 

B.Three 

C.Four 

D.One 

E.None of these 

5) As many chairs are heavier than M as lighter than ___? 

A.T 

B.A 

C.R 

D.S 

E.Can’t be determined 
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Direction (6-7): Study the following information carefully and answer the below questions. 

There are six persons- U, V, W, X, Y, and Z with different heights. X is shorter than only one person. Two 

persons have their heights in between V and U. Y is taller than U but shorter than W. Z is taller than W. 

The Heights of Z and V are 170cm and 163 cm respectively. 

6) What may be the height of X? 

A.162 cm 

B.167 cm 

C.160 cm 

D.172 cm 

E.None of these 

7) If the sum of the heights of V and Y is 313 cm, then what is the average height of Z, V, and Y? 

A.163 cm 

B.151 cm 

C.161 cm 

D.165 cm 

E.None of the above 

 

Directions (8-10): Answer the questions based on the information given below. 
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Seven persons  P, Q, R, S, T, U, and V are of different weights. Q is lighter than T but heavier than S. R is 

heavier than Q and V. S is lighter than P but not as lighter as the lightest person. At least two persons are 

heavier than T. U is heavier than R but lighter than P. 

8) Who is the 3rd-heaviest person? 

A.T 

B.Q 

C.R 

D.U 

E.Cannot be determined 

9) How many persons are lighter than Q? 

A.Two 

B.One 

C.Three 

D.Four 

E.None of these 

10) Who is the 2nd-heaviest person? 

A.P 

B.U 

C.R 

D.Q 

E.T 
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Answers : 

Directions (1-3) : 

B has a mobile which is costlier only than E. 

_>_>_>_> B > E 

C has a costlier mobile than F who has costlier mobile than D. 

C > F > D 

Only two persons are having mobile between C and A. 

F has a costlier mobile than A. 

C > F > D > A > B > E  

Third costlier mobile rate is 45000. 

C > F > D (45000) > A > B> E 

1) Answer: C 

2) Answer: D 

3) Answer: A 

D + F = 95000 

F=95000-45000=50000 

F+C=110000 

C=110000-50000=60000 

Directions (4-5) : 

Chair M has only less weight than S. 
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S > M >_>_>_ 

The weight of chair A is less than the weight of R. 

R > A 

Chair T is neither the second-heaviest nor the third-heaviest. 

S > M > R > T/A > T/A 

4) Answer: A 

5) Answer: E 

Directions (6-7) : 

Based on the above information we have the final arrangement as follows: 

Z > X > V > W> Y > U 

170 cm > X > 163 cm > W > Y > U 

6) Answer: B 

7) Answer: C 

Directions (8-10) : 

 

8) Answer: E 
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9) Answer: A 

10) Answer: B 
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